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Run 6167 mpswise, BCM: All
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Run 6167 mpswise, bpmAy: All
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Run 6167 mpswise, bpmBy: All Run 6167 mpswise, bpmBy: Beam OFF

[

=10 _
B Entries: 605092 — Entries: 73140
| J0000 —
EGD | Mean: 07624 «/- 000049 : Mean: -0. 7508 & - 0UOOGE
E Sid Dey: DUEEE0 4 0.0006 GOOO0 f_ Sid Dev: 09676 +- 0.0025
400 — [
- 50000 —
300 — 40000 —
oo - 30000 —
_ 20000 —
100|— =
- 10000 —
'D [ 1 | 1 1 | - | L1 1 1 | 1 1 1 1 | 1 1 1 1 | 11 1 1 | 11 1 1 | D [ | 1 1 1 1 | I I | I 11 1 1 | 1 1 1 1 | 1 L 1 1 1 1 1 1 I
—250 —200 -150 -100 -50 0 50 —250 —200 -150 -100 -50 0 50
bpmBy bpmBy
Run 6167, mpswise, bpmBy: Beam ON, Laser ON Run 6167, mpswise, bpmBy: Beam ON, Laser OFF
14000 = -
— Eniries: 238297 = Eniries: 258471
= 18000 —
— Mean: 09630 /- 0.0000 = Mean: 09E23 +/- 0.0000
12000 — 16000 —
= Sbd Dey: 0.00871 4~ 0.0000 — Sbd Dev: 0.00871 - 0.0000
10000 [— 14000 —
B 12000 —
8000 — =
N 10000 —
6000 [— BOOD [—
4000 — 6000 |—
- 4000
2000 — [
- 2000 —
'D_l"' A I NN TR TR NN SR B D|:|||||||| AN T T N N T T N N B
0.04 1.02 1.04 0.02 0.04 1.02 1.04 1.06




AccO/NAccO
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Run 6167 mpswise, beam ON, laser ON Run 6167 mpswise, beam ON, laser OFF
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Run 6167 mpswise, beam ON, laser ON Run 6167 mpswise, beam ON, laser OFF
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Run 6167 mpswise, beam ON, laser ON
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